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ot=MIHI| & XA 3,968,000 13,777,000 A 9,809,000
= 1,682,000
Al 2,286,000
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-9 = 1,558,500& x1H ~12& 18,702
- Jls 73 2,843, 700& »4H x12& 136,498
- Jls 83 2,693,400 x3Y¥ x12& 96,963
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- 6= 30,0003 x4H «12& 1,440
-7 30,0003 «7H «12& 2,520
O =g Jtatz 3,840
= Jl& A 50,0003 1 122 600
= J| A 30,0003 x9H 12 3,240
O dHugaltl 130,000& x24H «12& 37,440
O YEEIHHl  838,945,000& x1/12%60/100%23] 83,895
O Aot 4l 69,913,000 »86%+1/30*6 12,026
SIHHAAZZ2XNE S 374,931
O == 1,396,590& x10H 123 167,591
O Jig=d 167,591,000& *4/12 55,864
O AM2AZRE 7,0653 x15A1 2H+10H « 128 12,717
O M}HBx=2Y 80,000 x10H «12& 9,600
O Y2 FIHl 837,950 <10 «2& 16,759
O A2 4| 56,5203 10«6 3,392
O HEZE+E(ERY)
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OR-PIEEES= 11,280
- 6U0I& ~ 7HOIS 40,0009 +12 %12 480
— 804 ~ 9EOI2 50,0008 x2% %12 1,200
- 9U0l& ~ 104018 50,0009 12 =12 600
— 10E014 ~ 11012 60,0008 «12*122 720
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— 2040/ & 130,000 4 + 12 6,240
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203 9@ =T bl 4,200 4,200 0
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WP ES (541t 9,559,000 10,918,000 ~1,359,000
= 6,559,000
Al 3,000,000
WP &S (54 Dt) 9,559,000 10,918,000 ~1,359,000
= 6,559,000
Al 3,000,000
W= HeH XIS (5H41) 3,000,000 3,000,000 0
701 JIEtSI B ES 3,000,000 3,000,000 0
NPEEEEEE! 3,000,000 3,000,000 0
O St+EAY SEs|H M3 3,000,000
EHNE(5H2D) 6,559,000 7,918,000 ~1,359,000
= 6,559,000
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